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QUESTION 1

What are the three foundational elements required for the new operational paradigm? (Choose three.) 

A. centralization 

B. assurance 

C. application QoS 

D. multiple technologies at multiple OSI layers 

E. policy-based automated provisioning of network 

F. fabric 

Correct Answer: BEF 

 

QUESTION 2

How would Cisco ISE handle authentication for your printer that does not have a supplicant? 

A. ISE would not authenticate the printer as printers are not subject to ISE authentication. 

B. ISE would authenticate the printer using 802.1X authentication. 

C. ISE would authenticate the printer using MAB. 

D. ISE would authenticate the printer using web authentication. 

E. ISE would authenticate the printer using MAC RADIUS authentication. 

Correct Answer: C 

 

QUESTION 3

Which Cisco product were incorporated into Cisco ISE between ISE releases 2.0 and 2.3? 

A. Cisco ASA 

B. Cisco ESA 

C. Cisco ACS 

D. Cisco WSA 

Correct Answer: C 

 

QUESTION 4
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Which Cisco vEdge router offers 20 Gb of encrypted throughput? 

A. Cisco vEdge 5000 

B. Cisco vEdge 1000 

C. Cisco vEdge 2000 

D. Cisco vEdge 100 

Correct Answer: A 

 

QUESTION 5

Which two Cisco ISE use cases typically involve the highest level of implementation complexity? (Choose two.) 

A. Guest and wireless access 

B. Software-defined access 

C. Device management 

D. Asset visibility 

E. Software-defined segmentation 

Correct Answer: BE 
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